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RARFRETATICED< A b—7ERE~TiE EMRERNMHER

*&*ﬁ 2100MI : 2100MILLENNIUM v Haij(,;*.a&ﬂj jJ/E#F'Eﬁ 11,100 Kcal/h
12.9 Kw
mABHN/ B 3.08 Kcal/s

Av . A b -7 @REEEEHR
Av (@) = 618 x 464 = 286,752 mm’
Av  (EE&ME) = 575 x 464 = 266,800 mm’

Ah : R bM—=7KFIZEHERE

Ah = (Tyva)y7" ITE-b-INEEOHT-RKEITE) x (RKIEIE)
Ah = 671 x 594 = 398574 mm’

Ls : R b—7FuIRMRBEK T RER

Ls ({8lm) = 159 X N Av(fEIE) = 851 mm
Ls (IEm) = 24 X JAVEE/SmE) = 1240 mm
Ls (Fm) = 159 X JAVOE®E/EE) = 821 mm

Hs : R b—7F0IMMASEEEIER

1000000 )
Hs = 0.00106 1+ Ah = 1305 mm
Ah + 80000

Ds : A b—7FvVEEEIERE
Ds = REZSHETZSLY,

FEE . 15480kcal/s LU DA+—T



